
 

   
 

 
 

 

 
   

 

 
 

  
 

 
 

  
 

  
 

  
 

 
 

 
 
  
  

 

 
 
 
  
  

 
  

 

 
 

  
   
  
 

 

AP®  HUMAN GEOGRAPHY  
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Question 3 

The population pyramids above represent two countries at different stages of the demographic transition 
and economic development. 

Part A (2 points) 

Explain the demographic characteristics of each country above with respect to the demographic 
transition model. 

Country A 
• Must mention Stage 2 (second or early expanding stage) AND elaborate briefly about its 

characteristics, such as high birth rate, falling death rate, youthful population, developing 
country.  

• It is not acceptable to suggest Stages 1 or 3 for Country A. 

Country B 
• Must mention Stage 4 (fourth, final, or low stationary stage) AND elaborate briefly about its 

characteristics, such as low birth rate, low death rate, aging population, developed country.  
• It is acceptable to mention a possible Stage 5 (fifth stage) for Country B. 

Part B (2 points) 

Discuss ONE positive impact of EACH country’s population structure on its economic development. 

Country A (1 point) 
• Expanding or large workforce 
• Youthful population, which can spark creativity, receptivity to change, etc. 
• Less need for immigrant labor 
• Less need for elder social safety net (e.g., Social Security) 

Country B (1 point) 
• Educated (skilled, experienced, etc.) workforce 
• Low youth dependency ratio 
• More women in the compensated workforce 
• Tendency to spend discretionary income on needs other than education 
• Might need immigrant labor, which would allow citizens to take higher-order jobs 

Part C (2 points) 

Discuss ONE negative impact of EACH country’s population structure on its economic development. 

Country A  (1 point)  
• High youth dependency ratio 
• Strain on resources, the environment or society owing to rapid population growth 
• Low literacy rate for women 
• Fewer women in the compensated workforce 
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Question 3 (continued) 

Country B  (1 point)  
• High elder dependency ratio 
• Possible future labor shortage 
• Greater need to fund elder social safety net (e.g., Social Security) 
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Question 3 

Overview 

The question was designed to enable students to show how well they understood the demographic 
transition and the implications of a population’s demographic characteristics for economic and social 
conditions and economic change. 

Sample: 3A 
Score:  6  

The essay demonstrates a fundamental understanding of the demographic transition and population 
structures as well as the ties of each to economic development and was awarded full credit. In part A the 
essay received 1 point for correctly identifying Country A as being in the second stage of the demographic 
transition by stating that “the death rate is low and birth rate is high.” An additional point was earned for 
indicating that Country B is in the final stage of the demographic transition and noting that “both birth 
rate and death rate are low.” The response merited 2 points in part B for discussing the positive impact of 
an expanding labor pool by indicating that a large, youthful population translates into a sizable workforce 
for Country A and for discussing the positive impact of sufficient “job opportunities for college graduates” 
and “resources” (to use on needs other than education) in Country B. The essay was granted 2 points in 
part C for correctly discussing the negative impact on the environment created by extensive secondary-
sector development in Country A and by alluding to a possible future labor shortage because of a 
decreased “inflow of foreign talents” necessary to expand the new tertiary sector in Country B. 

Sample: 3B 
Score:  4  

The essay received partial credit in part A (1 point), partial credit in part B (1 point) and full credit in part C 
(2 points). The response earned 1 point in part A for correctly identifying Country A as being in Stage 2 of 
the demographic transition “because of the high numbers of children.” No point was awarded for Country 
B, as the population pyramid is clearly in Stage 4 (not “late stage 3 or early stage 4”). The essay was 
granted 1 point in part B for discussing the positive impact of an expanding workforce on the economy of 
Country A. No additional point was awarded for Country B, as the discussion is not about economic 
impacts. The essay merited 2 points in part C for correctly discussing the negative impact of having too 
many children in Country A, which could “surpass its carrying capacity,” and for considering the likelihood 
of a future labor shortage in Country B as a result of having fewer people available for employment. 

Sample: 3C 
Score:  3  

The essay received no credit in part A, full credit in part B (2 points) and partial credit in part C (1 point). 
The response was given no credit in part A because no connections are made between the population 
pyramids and the demographic transition for either Country A or B. The essay earned 2 points in part B for 
discussing the positive impact of an expanding workforce owing to the presence of a large labor pool in 
Country A and for explaining the positive impact on employment of an educated (“intelligent and 
experienced”) workforce in Country B. In part C no credit was granted for Country A because the essay 
does not discuss negative impacts such as high youth dependency ratios, gender issues or a strain on 
resources. The response was awarded 1 point for the discussion of the negative impact on Country B’s 
economy of people’s “living longer,” which creates a high elder dependency ratio. 
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